[HShd [ pg47 12,47, ) -t 22 20, 32-34

ﬁ) 510102. ~in erGfF 13 )’= mx +'b whe, e
m= slope. cnd b=yt

‘1) \/=—xl 6 Y= ~7+sx
m=- m=S§
b=0 bh=-7 - 559
/?ol i
ATE LY ) -l2x -4y = 2
: +12x +12_x

“%g:l_?___x + 2

- - :?1/

m
="

m::

.-_.KO\/: I X = 2.0
1 & =15 ) =10

V¢ o plod yint
b=z

=wX -2 )

LzAVE SLoPE AS
A StmPuto  mPRure

FrAcTion .




a4) Y=43X

m=% b=o

33) =Sx="7 —SJH::}Q
‘ Hz—fx +/

Di ferent "'gloees $0
lthes ere NOT//

ac) Y= S X +2

m="% ‘a"(

34) ¥ _§_ _)%1’27’ “’_’E

msz==yS
,/R 9= A+l
S

g='it)( +9
m="/2

ame slope (m= 'l/Z.«)
e e



